R YAMAWA

R U PiER ELEPEE

EEQT D mm 07 mm (7  mm B S mm

| x— LU

BB D mm BB : mm

| $BRUREOD) | — . | ®hURED) | —
_ v P | RUTRE B BUTAE
No.

0.0 -80UNF 1.305 1.182 1.27 3/16-12UN 28.321 27.864 28.2
1
No.1 -72UNF 1.612 1.474 1.58
2
2

. v T BT T
M1 x 025 (0.785)  (0.729) 0.77 2 M9.5 x 0.75 8.878 8.688 8.83 2 M19 x 18.599  18.459 18.56 M33 x 1.5 31.676  31.376 31.60
M1  x 0.2 (0.821)  (0.783) 0.81 r2 M9.5 x 0.5 9.099 8.959 9.06 M20 x 25 17.744  17.294 17.6 2 M33 x 1 32.153  31.917 32.09
M1.1 x 025  (0.885)  (0.829) 0.87 M10 x 1.5 8.676 8.376 8.60 M20 x 2 18.210  17.835 18.1 2 M34 x 3 31.252  30.752 31.1
M1.1 x 0.2 (0.921)  (0.883) 0.91 M10 x 1.25 8.912 8.647 8.85 M20 x 1.5 18.676  18.376 18.60 T OM34 x 2 32210  31.835 32.1
M1.2 x 025  (0.985)  (0.929) 0.97 M10 x 1 9.153 8.917 9.09 2 M20 x 1.25  18.912 18.647 18.85 ) M34 x 1.5 32676  32.376 32.60
M1.2 x 0.2 (1.021) (0.983) 1.01 M10 x 0.75 9.378 9.188 9.33 M20 x 1 19.153 18.917 19.09 ' M34 x 1 33.153 32.917 33.09
M1.4 x 0.3 (1.142) (1.075) 1.13 1 M10 x 0.5 9.599 9.459 9.56 2 M20 x 0.75  19.378 19.188 19.33 2 M35 x 3 32.252  31.752 32.1
M1.4 x 0.2 (1.221) (1.183) 1.21 M11 x 1.5 9.676 9.376 9.60 1 M20 x 0.5 19.599 19.459 19.56 2 M35 x 2 33.210  32.835 33.1
M1.6 x 0.35  1.321 1.221 1.30 1 M11 x 1.25 9.912 9.647 9.85 2 M21 x 2 19.210  18.835 19.1 M35 x 1.5 33.676  33.376 33.60
M1.6 x 0.2 (1.421)  (1.383) 1.41 M11 x 1 10.153 9.917 10.09 2 M21 x 1.5 19.676  19.376 19.60 2 M35 x 1 34.153  33.917 34.09

3 M1.7 x 035 1.421 1.321 1.40 M11 x 075 10.378  10.188 10.33 2 M21 x 1 20.153  19.917 20.09 M36 x 4 32270  31.670 32.1
31 M1.7 x 0.2 1.521 1.483 1.51 1 M11 x 0.5 10.599  10.459 10.56 M22 x 2.5 19.744  19.294 19.6 M36 x 3 33.252  32.752 33.1
M1.8 x 035  1.521 1.421 1.50 M12 x 1.75  10.441 10.106 10.4 M22 x 2 20.210  19.835 20.1 M36 x 2 34210  33.835 34.1
M1.8 x 0.2 (1.621)  (1.583) 1.61 M12 x 1.5 10.676  10.376 10.60 M22 x 1.5 20.676  20.376 20.60 M36 x 1.5 34676  34.376 34.60
M2  x 0.4 1.679 1.567 1.65 M12 x 125  10.912 10.647 10.85 2 M22 x 125 20.912  20.647 20.85 ' M36 x 1 35.153  34.917 35.09
M2 x 025 (1.785)  (1.729) 1.77 M12 x 1 11.153  10.917 11.09 M22 x 1 21.153  20.917 21.09 2 M37 x 1.5 35.676  35.376 35.60
M2.2 x 045  1.838 1.713 1.81 T2 M12 x 075  11.378  11.188 11.33 2 M22 x 075  21.378  21.188 21.33 2 M38 x 3 35.252  34.752 35.1
M2.2 x 025  (1.989) (1.929) 1.97 1 M12 x 0.5 11.599 11.459 11.56 1 M22 x 0.5 21599  21.459 21.56 1 M38 x 2 36.210  35.835 36.1
1 M2.3 x 0.4 1.979 1.867 1.95 e M13 x 175 11.441 11.106 11.4 T2 M23 x 2 21210  20.835 21.1 M38 x 1.5 36.676  36.376 36.60
E' M2.3 x 0.25 2.085 2.029 2.07 1 M13 x 1.5 11.676 11.376 11.60 2 M23 x 1.5 21.676 21.376 21.60 ' M38 x 1 37.153 36.917 37.09
M2.5 x 0.45 2.138 2.013 2.11 2 M13 x 1.25 11.912 11.647 11.85 F2 M23 x 1 22.153 21.917 22.09 M39 x 4 35.270 34.670 35.1
M2.5 x 035  2.221 2.121 2.20 1 M13 % 1 12.153  11.917 12.09 M24 x 3 21.252  20.752 21.1 M39 x 3 36.252  35.752 36.1
' M2.6 x 045  2.238 2.113 2.21 T2 M13 x 0.75  12.378  12.188 12.33 M24 x 2 22210  21.835 22.1 M39 x 2 37210  36.835 37.1
1 M26 x 035  2.321 2.221 2.30 1 M13 x 0.5 12.599  12.459 12.56 M24 x 1.5 22.676  22.376 22.60 M39 x 1.5 37.676  37.376 37.60
M3  x 05 2.599 2.459 2.56 M14 x 2 12.210  11.835 12.1 T2 M24 x 125 22912 22.647 22.85 2 M39 x 1 38.153  37.917 38.09
1 3M0.6 2.440 2.280 2.40 e M14 x 1.75  12.441 12.106 12.4 M24 x 1 23.153 22917 23.09 2 M40 x 4 36.270  35.670 36.1
M3  x 035  2.721 2.621 2.70 M14 x 1.5 12.676  12.376 12.60 2 M24 x 075 23378  23.188 23.33 M40 x 3 37.252  36.752 37.1
M35 x 0.6 3.010 2.850 2.97 M14 x 125  12.912 12.647 12.85 £ M24 x 0.5 23,599  23.459 23.56 M40 x 2 38.210  37.835 38.1
M35 x 035  3.221 3.121 3.20 M14 x 1 13.153  12.917 13.09 T2 M25 x 3 22252  21.752 22.1 M40 x 1.5 38.676  38.376 38.60
M4 x 0.7 3.422 3.242 3.38 T2 M14 x 075  13.378  13.188 13.33 M25 x 2 23210  22.835 23.1 1 M40 x 1 39.153  38.917 39.09
1 4MO0.75 3.326 3.106 3.27 1 M14 x 0.5 13.599  13.459 13.56 M25 x 1.5 23.676  23.376 23.60 M42 x 4.5 37.799  37.129 37.6
M4  x 05 3.599 3.459 3.56 e M15 x 2 13.210  12.835 13.1 M25 x 1 24.153  23.917 24.09 M42 x 4 38.270  37.670 38.1
M45 x 0.75  3.878 3.688 3.83 M15 x 1.5 13.676  13.376 13.60 2 M25 x 075 24378  24.188 24.33 M42 x 3 39.252  38.752 39.1
M4.5 x 0.5 4.099 3.959 4.06 E2 M15 x 1.25 13.912 13.647 13.85 F2 M26 x 3 23.252 22.752 23.1 M42 x 2 40.210 39.835 40.1
M5 x 0.8 4.334 4.134 4.28 M15 x 1 14.153 13.917 14.09 E1OM26 x 2 24.210 23.835 241 M42 x 1.5 40.676 40.376 40.60
1 5M0.9 4170 3.930 4.11 2 M15 x 0.75  14.378  14.188 14.33 M26 x 1.5 24676  24.376 24.60 E1OM42 x 1 41153  40.917 41.09
72 M5 x 0.75  4.378 4.188 4.33 1 M15 x 0.5 14599  14.459 14.56 T M26 x 1 25.153  24.917 25.09 T2 Mdd x 4 40.270  39.670 40.1
M5  x 0.5 4.599 4.459 4.56 M16 x 2 14.210 13.835 141 M27 x 3 24.252 23.752 241 2 M44 x 3 41.252 40.752 411
3 M55 x 0.9 4.670 4.430 4.61 M16 x 1.5 14.676  14.376 14.60 M27 x 2 25210  24.835 25.1 2 Md4 x 2 42210  41.835 421
M55 x 0.75  4.878 4.688 4.83 T2 M16 x 1.25  14.912 14.647 14.85 M27 x 1.5 25.676  25.376 25.60 2 M44 x 1.5 42,676  42.376 42.60
M55 x 0.5 5.099 4.959 5.06 M16 x 1 15.153  14.917 15.09 M27 x 1 26.153  25.917 26.09 2 M44 x 1 43.153 42917 43.09
M6 x 1 5.153 4.917 5.09 2 M16 x 0.75  15.378  15.188 15.33 2 M27 x 075  26.378  26.188 26.33 M45 x 4.5 40.799  40.129 40.6
M6 x 075  5.378 5.188 5.33 1 M16 x 0.5 15599  15.459 15.56 T2 M28 x 3 25252  24.752 25.1 M45 x 4 41270  40.670 41.1
I M6 x 05 5.599 5.459 5.56 T2 M17 x 2 15210  14.835 15.1 M28 x 2 26.210  25.835 26.1 M45 x 3 42252  41.752 42.1
2 M6.5 x 0.5 6.099 5.959 6.06 M17 x 1.5 15.676  15.376 15.60 M28 x 1.5 26.676  26.376 26.60 M45 x 2 43210  42.835 43.1
M7 x 1 6.153 5.917 6.09 e M17 x 125 15,912 15.647 15.85 M28 x 1 27.153  26.917 27.09 M45 x 1.5 43.676  43.376 43.60
M7 x 075  6.378 6.188 6.33 M17 x 1 16.153  15.917 16.09 2 M29 x 1.5 27.676  27.376 27.60 T M45 x 1 44153  43.917 44.09
3 M7 x 05 6.599 6.459 6.56 T2 M17 x 075  16.378  16.188 16.33 M30 x 3.5 26.771 26.211 26.6 T2 M46 x 4 42270  41.670 421
12 M7.5 x 0.5 7.099 6.959 7.06 e M17 x 0.5 16.599  16.459 16.56 M30 x 3 27.252  26.752 27.1 2 M46 x 3 43252  42.752 43.1
M8 x 125  6.912 6.647 6.85 M18 x 2.5 15.744  15.294 15.6 M30 x 2 28.210  27.835 28.1 12 M46 x 2 44210  44.835 441
M8  x 1 7.153 6.917 7.09 M18 x 2 16.210  15.835 16.1 M30 x 1.5 28.676  28.376 28.60 T2 M46 x 1.5 44676  44.376 44.60
M8 x 075  7.378 7.188 7.33 M18 x 1.5 16.676  16.376 16.60 M30 x 1 29.153  28.917 29.09 M48 x 5 43297  42.587 43.1
' M8  x 05 7.599 7.459 7.56 T2 M18 x 1.25  16.912 16.647 16.85 2 M32 x 3.5 28.771 28.211 28.6 M48 x 4 44270  43.670 441
2 M85 x 1 7.653 7.417 7.59 M18 x 1 17.153  16.917 17.09 2 M32 x 3 29.252  28.752 29.1 M48 x 3 45252  44.752 45.1
2 M85 x 0.75  7.878 7.688 7.83 2 M18 x 0.75  17.378  17.188 17.33 M32 x 2 30.210  29.835 30.1 M48 x 2 46.210  45.835 46.1
2 M8.5 x 0.5 8.099 7.959 8.06 1 M18 x 0.5 17.599  17.459 17.56 M32 x 1.5 30.676  30.376 30.60 M48 x 1.5 46.676  46.376 46.60
M9 x 125  7.912 7.647 7.85 e M19 x 25 16.744  16.294 16.6 EOM32 x 1 31.153  30.917 31.09 1 M48 x 1 47153  46.917 47.09
M9  x 1 8.153 7.917 8.09 EFe M19 x 2 17.210 16.835 171 2 M32 x 075  31.378 31.188 31.33 D1 JIS6H () HRUAERERLET. () PIDMIER. LERUIESHEER ).
M9 x 075  8.378 8.188 8.33 2 M19 x 1.5 17.676  17.376 17.60 M33 x 3.5 29.771 29.211 29.6 @EnBUH - S TRk oD
F M9 x 05 8599  8.459 8.56 2 M19 x 1 18153  17.917  18.09 M33 x 3 30252 29752  30.1 i e R
T2 M9.5 x 1 8.653 8.417 8.59 2 M19 x 0.75 18.378  18.188 18.33 M33 x 2 31.210  30.835 31.1  JISIRHEICED, P=1 S TSR R 2. P=1 755 H&
BRI 1 #TCae#L CHhhE T,
=y e 1 9= FILA-PIRLA ,

10 406 10 216 10.36
12.644 12.379 12.6
12.561 12.325 12.50
12.483 12.271 12.43
14.733 14.433 14.7
14.561 14.325 14.50
14.483 14.271 14.43
16.733 16.433 16.7
16.561 16.325 16.50
18.897 18.542 18.8
18.561 18.325 18.50
20.897 20.542 20.8
20.561 20.325 20.50
22.897 22.542 22.8
22.561 22.325 22.50

STI M2.6 x 0.45 2.798 2.8 2.77 STI M10
STI M 3 x 0.5 3.221 3.109 3.19 STI M12

()]

STI M 4 x 0.7 4.291 4.151 4.26 STI M12
1/4 - 8UN 28.956 28.321  28.8
1/4 -12UNF 29.921 29.464 29.8 STI x08 5333 5173  5.29 STI M12

M
STI M 6 x 1 6.406  6.216  6.36 STI M4
S/IERTPUN s ST M8 x125 8483 8271 843 STI M14
6 - 6UNC 31115  30.353 309 STI M10 x 1.5 10.561 10.325  10.50 ST M14
3/8 - 8UN 32131 31.496 32.0 M0 ¢ '

STl M16
/8 - 12UNF 33096 32639 330 STI 1.25 10.483 10.271 10.43 T
1/2 - 6UNC 34.290 33.528 34.1 STI M18
No.5 -40UNC 2.697 2.487 2.64 1/2 - 8UN 35.306 34.671 35.1 £ 4= »

No.5 -44UNF 2.740 2.551 2.69 1/2 -12UNF 36.271 35.814 36.2 I 'J:}Eﬁzlz T&bﬁﬁ (PS) 47 mm 31: m;g

1
-64UNC 1.582 1.425 1.54 11/4 - 7UNC 28.524 27.813  28.3
1
No.2 -56UNC 1.871 1.695 1.83 1
1
1
1
1
1
1
1
No.6 -32UNC 2.895 2.642 2.83 15/8 - 5UNS 36.652 35.789  36.4 _ E
! STI M2
1
1
1
1
1
1
2
2
2

N o N
o

No.
No.3 -48UNC 2.146 1.941 2.09
No.3 -56UNF 2.197 2.025 2.15
No.4 -40UNC 2.385 2.157 2.33
No.4 -48UNF 2.458 2.271 2.41

-64UNF 1.912 1.756 1.87

N = =4 N = =
N O
()]

5
o

—_ N =
o 01 O

No.6 -40UNF 3.022 2.820 2.97 5/8 - 8UN 38.481 37.846 38.3

STI M22
No.8 -32UNC 3.530 3.302 3.47 5/8 -12UN 30.446 38989  39.3 1/16 - 28 6.632 6 490 6.50
3/4 - 5UNC  39.827 38.964  39.6 s s w863 8498 880 ST M22

— N
[621N@)]

X X X X X X X X X X X X X X X X X
=
(63}

No.8 -36UNF 3.606 3.404 3.56
. - . PS  1/4 -19 _ ) _ STI M24 x 3 25.049 24649 24.9
No0 -24UNC  3.962  3.683  3.89 3/4 - BUN 41656 41.021 415 Ny o N A e R L L STI M24 x 2 24733 24433 247
No.10 -32UNF 4.165 3.963 4.11 3/4 -12UN 42.621 42.164 42.5 PS 172 -14 18773 18.489 185 STI M24 x 1.5 24561 24.325 2450
No.12 -24UNC 4,597 4.344 4.53 7/8 - 8UN 44.831 44.196 44.7 PS 5/8 -14 20.729 20.445 20.4 C CDEEFEA T — RO A—H—DERICE > TNET
No.12  -28UNF 4.724 4.496 4.67 7/8 -12UN 45.796  45.339 45.7 PS  3/4 -14 924959 23975 240
No.12 -32UNEF 4.826 4.623 4.78 - 41/2UNC 45,593 44.679 45.4 PS 7/8 -14 28.019 27'735 27'7 o — s
14 -200NC 5257 4979 5.9 - 8UN 48.006 47.371  47.8 e I TR | «ov—aqlazor4naCE
14 -28UNF 5588 5360  5.53 -12UN 48.971  48.514 489 PS 1 1/8 -11 35120 34.758 34.7
1/4 -32UNEF gggg gggg g?g DIZBORLPEEELES. UNCUNFIIS, UNEFUN.UNSOZBIT UFEDIIS PS 1 1/4 -11 39133 38771 38.8 STI No.4 40UNC-m-3 180 __2 985 3
1/4 -36UNS . : : o2 ' ' ' e ' ' '
516 18UNG 5731 5.401 665 Eg } ;;‘2‘ H 28'828 4513.28471 gg-g STI No.4 -48UNF  3.121 2.962 3.08
i . - . . . STl No.5 -40UNC  3.487 3.315 3.44
e ron %2 o D OqURMBRUA . s Cnoseey Sdas S8 | qwoomue e sa  ass
\L - mm HEses(C [PS] [RpI A DULTLY v e -
Y8 -lUNG 8158 7798 8.06 Bo L PRUPECL | aumre - . SUNoo 2NC 4523 4339 448
3/8 -32UNEF  8.864  8.662 8.81 23 ;ﬁ;gw‘?g jl 3?2 1 ;gg : I 2R TR UHAH (PFG) P STINo.8 -36UNF  4.498  4.321 4.45
i x! . . o 10 - . . .
776 -14NC 9550 9144 9.4 S os w0 2501 2458 2. TSIl o sune 5aa4 4980 54
7/16 -20UNF 10.033 o) 2] 9.96 21 5/32 W32 3914 3.071 3.18 1/16 - 28 6.843 6.561 6.77 STI Noi2-24UNC  5.943 5715 589
7/16 -24UNS  10.210  9.957  10.15 = 3/16 W24 3.745  3.563 3.70 PF 1/8 -28  8.848  8.566 8.78 STI 1/4 -20UNC  6.868  6.625 6.81
T AR R B B RN R BL AR B
- . . . . . . PF 3/8 -19 15.395 14.950 15.28 ’ ’ ’
12 -20UNF  11.607 11.329 11.54 5/16 W18 6.670 6. 6.59 PE s 14 1972 18631  19.0 A el - O
s oaUNEF  11o3s 41330 iiae ewis 9508 O 84" B T 52 Ve I STI 38 -16UNC 10126  9.868  10.06
2 -osUNER 11938 11710 11.88 12 wiz 10830 10.310  10.7 PF 34 -14 24658 24117 245 ST 38 -24UNF 9931 9754  9.89
V2 -S2UN - 12.039 11837 1199 ofeWi2 12418 11.898 123 PE7/8 -14 28418 27.877 283 STI 7/16-14UNC 11.783 11507  11.7
AlCEZON R o PR NE e R S 8 w11 138177 13257 137 PF1  -11 30931 30291 308 STI 7/16-20UNF  11.584 11.387  11.53
o6 200N 13008 12004 131 SLtEWHOR— xS el R 50 EE LD ST SO ShesE oL STl 1/2 -13UNC 13393 13122  13.3
- . : 7/8 W 9 19.691 19.031 19.5 PF 1 1/4 -11 39.592 38.952 39.4 ’ i )
o/6 -24UNEF  13.385 13132  13.32 1 ws 22514 21814 223 PF 1 12 -11 45485 44.845 453 ST R RN laers 1a3T2 132
58 -11UNC  13.868 13.386  13.7 1 1/8 W 7 256.229 24469 25.0 PF 1 34 -11 51428 50.788  51.3 TI 5/8 -18UNF 16.385 16.180 16.33
5/8 -18UNF 14.681  14.351 14.60 1 1/4 W 7 28.404  27.644 28.2 PF 2 -11 57296 56.656 571 S ' ’ )
e e 14780 14504 1471 138 W 6 30.923 30123 307 STl 3/4 -10UNC 19.908 19.599 19.8
558 -24UNEF 14986 14739 14.92 112 W 6 34.008 33.208 339 po— - . STl 3/4 -16UNF 19:6\OS 19.393 19.55
RETGUNG 16.840 16.307 16.7 1 58 W 5 36.409 35.529 36.2 I Eﬁﬁj—_} \1@ Ljﬁﬁ (PT,RC) - TOEFEA Y — RIS A —H—DERICESTVET,
3/4 -16UNF  17.678 17.323  17.59 14 ws 39984 38.704 394 O I
3/4 -20UNEF  17.957 17.679  17.89 L AT jg 421%5 ﬂ'ﬁ% jg'g s VRIS B F
7/8 - 9UNC  19.761 19.177 19.6 ; A S oia m % {I!lﬁ *[l % ﬂ_:‘ Fﬁ
7/8 -14UNF  20.675 20.270 20.6 T D o g, IS SRR PT  1/16- 28 6.1 6.2
7/8 -20UNEF  21.132  20.854  21.06 PT  1/8 - 28 8.1 8.2 -~ )
1 - 8UNC 22,606 21.971 22.4 I P — PT  1/4 - 19 10.7 10.9 e 831310 R
1 -12UNF 23571 23114 235 =AY1T71R UA (Rp) " PT  3/8 - 19 14.2 14.4 (FBI—LKENL)
1 -14UNS  23.825 23.445 237 - S EU_F PT  1/2 -14 17.6 17.9 S — T .
1 -20UNEF  24.307 24.029 24.24 ; i & PT  5/8 - 14 19.6 19.8 oyt v w0 naqr | B e
1 1/16 -12UN 25146 24.689 250 Rp 1/8 - 28 8.637 8.495 8.50 PT 3/4 - 14 230 03’3 0120-800-418 Vet BARHERCHYEATOET  MYAMAWA
1 1/16 -14UNS 25412 25032 25.3 R 1/4-19 11549 11.341  11.40 PT  7/8 -14 26.7 27.0 - - = !
1 1/8 - 7UNC  25.349 24.638 252 Ro  38-19 15.054 14.846  14.90 PT 1 - 11 29.0 29.3 )
1 1/8 - 8UN 25781 25.146 25.6 Rp 1/2-14 18773 18.489 185 PT 1 1/8 - 11 33.6 33.9
1 1/8 -12UNF  26.746 26.289 26.6 Rp  8/4-14 24259 23.975 24.0 PT 1 1/4 - 11 37.6 37.9
1 1/8 -14UNS 27.000 26.620 26.9 Rp 1 - 11 30.472 30.110 30.2 PT 1 1/2 - 11 43'5 43.8
- ERESO [AUSP Rp) [ ERBH PT 1 3/4 - 11 49.4 49.7 -
PT 2 - 11 55.0

55.4
ARV T ZIGARSD



